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I KLEYS: Wocan say ... )—1

— A drop i the prowth vate Trony 3015 1w 9%,

popalation groneih,”

|SECTION ONE : READING COMPREHENSION (7 points}
P W can say
i Answerthe folfowing grestions according te e text
1 What s the problens of all world governments? {1.5}
— Popnluiton growing faster than Toeal resourees.
2 Why was the prowth rade stagnant belore 17508 (1.3]
- Heawuse brrth rtes and death mues were eqoal.
A What s the positve esoltwchieved by Tenisia? (2

J
1

A4 Why ds it importunt for developing conntries o pay atlention 1y the problem of populilion
frremyLh? {2}
! — lwonder o avoid problenss in educition, housing, employment and thus guarantee a decent life.
SECTION TWGC : MASTERY OF LANGUAGE (8 points)
Syanmyms: {1.5)
(a) debutes ($1) {h} stagmanl (§2) fey wenl Jdomop (E3)
i t
O pposiies: .\ {1.5)
I more {§2) {h) wenl up (§3) (e} posative (§4)
Transformations; ; {2}
1 (b1 A fecturer sid that the papulation growth was 7 had been stagnant.
3. () VInoUs organisations cncourage countries o contred their eromah ralg.
3 (L) Pupulation srowth concerns alil sovermments,
14, ih) An ceonomist saud, “We { You have to sinke a balanee Belween oo prowduction and

{loze passage: . (3
Tewnzpeople, when they ge to the countryside, often think it is a qurel, peacelol holiday resont
where they ean f enubd relax and have (un. They see the Tields, the erops and the Nowers and think
the villagers / peaple f peasants have an casy, happy life. They don’t £ hardly readise that farm
workers must weork lang Lowrs / days i all Kinds of weathes. Townspeaple don't ex penience they
monateny of country e, the lack ol services o/ and entertainmenl.

SECTION THREE : WRITTEN EXPRESSION {5 points)
Chonse ane of the follewing topics, :

Euher 1: Using the foltowing notes, write a ¢ oinposition of about 80 to i20 words.
It neeessary w learn a second linguape 1o communicate with ather people. What fanpuage du
vou prefer? Why?

Or2 : Write & composition of about 80 to 120 words an the Jollawing ropic.

What is the best soluton to solve the problem of populalion growth in YT country
L
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